Santa’s Reindeer Puzzle.
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Father Christmas has 15 reindeer and 12 stables in which to keep them.

Father Christmas wants to arrange his reindeer so that he has the same number of reindeer

along each road around his house.

A)  Right now there are 5 reindeer along the ‘South Road’ and 4 reindeer at the North, East and
West roads. Can you move a single reindeer so that there are 4 along each road?

B)  Can you move the reindeer so that there are 5 along each road?
C)  Can you move the reindeer so that there are 6 along each road?

D)  Can you move the reindeer so that there are 7 along each road?

This was adapted from an original puzzle from http://www.1001mathproblems.com/




